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4. How is a pyramid with the same base and height related to a prism? 


5.What is the equation for volume of a pyramid?


6. Determine the volume of the Square pyramid:



7. How is a pyramid constructed?


Prism or pyramid (bronze)
For the following, Identify if it a prism or pyramid, then solve for the volume.
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Solid type:

Solid equation:

Base shape:

Area of base:

Height of solid:

Volume:


Solid type:

Solid equation:

Base shape:

Area of base:

Height of solid:

Volume:


Solid type:

Solid equation:

Base shape:

Area of base:

Height of solid:

Volume:











Silver:
Determine the volume of the square pyramids (be careful with what numbers you use)
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[image: ]     Sketch and solve
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Gold
[image: ]1a. Determine the volume between the two shaded levels





b. If the item is made of brass and weighs 8.4g per cm3, what is the total weight between the shaded levels?



Q2,3,4: Manipulate the equation of a pyramid to solve for the following
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Exit ticket
[image: ]Show your work or explain your reasoning:











Don’t forget to annotate the question




Exit ticket

[bookmark: _GoBack][image: ]Show your work or explain your reasoning:











Don’t forget to annotate the question
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The Great Pyramid of Giza is a square pyramid with base edges of
approximately 775 ft and an original pyramid height of 480 ft. The
limestone used to construct the pyramid weights approximately 167
pounds per cubic foot. How much does the pyramid weigh? If 1 ton = 2000
pounds, how many tons does it weigh?




image9.png




image10.png
A square pyramid with volume 86.4 cm® has base length 6 cm. Find the height.
A square pyramid with volume 0.784 m® has base length 1.4 m. Find the height.

A cone with volume 250 cm® has radius 8 cm. Find the height.
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A solid metal prism has a rectangular base with sides of 4 inches and
6 inches, and a height of 4 inches. A hole in the shape of a cylinder,
with a radius of 1 inch, is drilled through the entire length of the
rectangular prism.
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What is the approximate volume of the remaining solid, in cubic
inches?
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Prisms and pyramids

1.Determine the volume of the square prism

2. What do these solids have in common?

3. Prediction: How much bigger do you think the
volume of the prism will be than the pyramid?

/ \ “I think the volume of the pyramid will be...
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